

$$\frac{n_{E1}}{n_{E0}} = e^{-\frac{8,22 \cdot 10^{-20} \text{ J}}{1,3806 \cdot 10^{-23} \text{ J/K} \cdot 298 \text{ K}}} = \boxed{2 \cdot 10^{-9}}$$

Euotaxouala

$$\left. \begin{aligned} B &= \frac{h}{8\pi^2 \cdot I \cdot c} \Rightarrow I = \frac{h}{8\pi^2 \cdot B \cdot c} \\ E_J &= \frac{h^2 \cdot J \cdot (J+1)}{8 \cdot \pi^2 \cdot I} \end{aligned} \right\} E_J = \frac{h^2 \cdot J \cdot (J+1)}{8\pi^2 \cdot \frac{h}{8\pi^2 \cdot B \cdot c}} = B \cdot c \cdot h \cdot J \cdot (J+1)$$

$$E_J = 20,956 \text{ cm}^{-1} \cdot 2,998 \cdot 10^{10} \text{ cm/s} \cdot 6,62608 \cdot 10^{-34} \text{ J/s} \cdot 1 \cdot (1+1) = 8,326 \cdot 10^{-22} \text{ J}$$

$$E_{J0} = 0$$

$$\Delta E_J = 8,326 \cdot 10^{-22} \text{ J}$$

$$\frac{n_{E1}}{n_{E0}} = e^{-\frac{8,326 \cdot 10^{-22} \text{ J}}{1,3806 \cdot 10^{-23} \cdot 298 \text{ K}}} = \boxed{0,817}$$

- ③ Zein abstraktion getrennte beladene Elektrode kotze bei aufge soni bei (660nm) auf beiden reagen (520nm) belit beale ikesteke?

$$\bar{V}_{ikus} = V_{isor} \cdot \sqrt{\frac{1+S/C}{1-S/C}} \Rightarrow \left(\frac{\bar{V}_{ikus}}{V_{isor}} \right)^2 = \frac{1+S/C}{1-S/C} \Rightarrow \left(\frac{\bar{V}_{ikus}}{V_{isor}} \right)^2 \cdot (1-S/C) = 1+S/C \Rightarrow$$

$$\left(\frac{\bar{V}_{ikus}}{V_{isor}} \right)^2 - \left(\frac{V_{ikus}}{V_{isor}} \right)^2 \cdot \frac{S}{C} = 1 + \frac{S}{C} \Rightarrow \left(\frac{\bar{V}_{ikus}}{V_{isor}} \right)^2 - 1 = \frac{S}{C} \cdot \left(\frac{\bar{V}_{ikus}}{V_{isor}} \right)^2 \cdot \frac{S}{C} \Rightarrow$$

$$\left(\frac{\bar{V}_{ikus}}{V_{isor}} \right)^2 - 1 = \left(1 + \left(\frac{\bar{V}_{ikus}}{V_{isor}} \right)^2 \right) \cdot \frac{S}{C} \Rightarrow \frac{C \left[\left(\frac{\bar{V}_{ikus}}{V_{isor}} \right)^2 - 1 \right]}{1 + \left(\frac{V_{ikus}}{V_{isor}} \right)^2} = S$$

$$v = \frac{c}{\lambda} \Rightarrow V_{ikus} = \frac{2,998 \cdot 10^8 \text{ m/s}}{520 \cdot 10^{-9} \text{ m}} = 5,77 \cdot 10^{14} \text{ s}^{-1}$$

$$V_{isor} = \frac{2,998 \cdot 10^8 \text{ m/s}}{660 \cdot 10^{-9} \text{ m}} = 4,54 \cdot 10^{14} \text{ s}^{-1}$$

$$\boxed{S = \frac{2,998 \cdot 10^8 \cdot \left[\left(\frac{5,77 \cdot 10^{14}}{4,54 \cdot 10^{14}} \right)^2 - 1 \right]}{1 + \left(\frac{5,77 \cdot 10^{14}}{4,54 \cdot 10^{14}} \right)^2}} = \boxed{7,05 \cdot 10^7 \text{ m/s}}$$